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Commercially Equivalent Paths
• Test 1 - A valid commercially similar defender must have 

67% of the  significantly impacted FGs of the Challenger.
• Test 2 - A valid commercially similar defender must have 

67% of the  constrained  FGs of the Challenger impacted by 
applying the 90% rule.

• 90% Rule - To relieve a constrained flowgate or path, a 
Defender’s TDF must be at least 90 % of the Challenger’s 
TDF.  For MOD 028 and MOD 029, the TDFs are assumed 
to be either 0 or 1.  For example, if the challenger TDF on a 
constrained element is 0.15, the defender must have an 
impact on the same constrained element with a TDF of 
0.135 or greater. 

• If Test 1 and Test 2 are both true, it passes the equivalency 
test.

• Identify the largest recall required from the flowgates that 
passed the 90% rule. Compute credits to all flowgates 
based upon that recall amount.
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